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from sklearn.decomposition import PCA

pca = PCA(n_components = 2)
X2D pca.fit transform(X)
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pca = PCA(n_components = 154)
pca.fit transform(X train)
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PCA(n_components = 154, svd solver="randomized")
= rnd_pca.fit transform(X_ train)
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from sklearn.decomposition import IncrementalPCA

n_batches = 100

inc_pca = IncrementalPCA(n_components=154)

for X batch in np.array split(X train, n_batches):
inc_pca.partial fit(X batch)

X reduced = inc pca.transform(X train)
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from sklearn.decomposition import KernelPCA

rbf pca = KernelPCA(n_components = 2, kernel="rbf", gamma=0.04)
X reduced = rbf pca.fit transform(X)
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clf = Pipeline([
("kpca", KernelPCA(n_ components=2)),
("log reg", LogisticRegression(solver="1bfgs")) ])

param _grid = [{
"kpca gamma": np.linspace(0.03, 0.05, 10),
"kpca_kernel": ["rbf", "sigmoid"] }]

grid search = GridSearchCV(clf, param grid, cv=3)
grid search.fit(X, y)
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from sklearn.manifold import LocallyLinearEmbedding

lle = LocallyLinearEmbedding(n_components=2, n_neighbors=10)
X reduced = lle.fit transform(X)
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